1.

oS 2elA sx o] 715 Fobolat

259 W2e) g Pt
180° x (7 —2) = 900°
£x = 900° — (100° + 140° + 105° + 100° + 80° + 95°) = 280°




olJ
B
N

15

z+e] =271 €] gto] 1800° <1 T

2.

e
~

1l

e
L
of

@) ne12r4

i
N
KA

1800°

180° x (n — 2)

n—2:10,n:12,ﬁ012'}-—8§




3.

S 799) 9 0 9 x o] 271 Fotoit,

167 cm?

247 : 160 = 90° : x
167
= 90°x — = 60°
. 247




4. & 180 ¥ 0 oA LAOB = 35°, E31E AOB 2] Wol7F 14ecm?,
HHE CcOD 2] Yo7t 30cm? & o, zx 9] T7]=2?

@® 60° @ 68° ® 712° @)15° ® 80°

2229 Yol FHze 2710 Fujestuz,
14 :30 =35°: x
o /x =T75°




5.

o 1™l A 241

Aylol=?

O 50mcm?

@ 80mcm?

sj=0 2 51 3|3 AAM 7] 213dA1 9

@ 60mcm? ® 70mecm?

(6)907Tcm2

B

2Xx5xnm=10xr

A& 9 doj= HHe At gong

1
(B¥el) =nax5%+ 5 X 13107 = 257 + 657 = 90r




6.

ANE7} e 1T e YAE P

°o]=?

® 167 cm? @ 247rcm?
® 30mcm? @457r cm?
® 487 cm?

24

12cm

3cm

1
7r><32+§><12><67r:457r(cm2)




7. Buel7t 216em? 9 WA O] 5 @A e 0] Lol

@Gcm @ 8cm @ 9cm @ 12cm ® 14cm

B

(BHol) =2x (LHol) + (FHol)
6a> = 216

a® =36

2. a=6(cm)




22 A27159] 246 el7t 300cm

2 Q]
=

B

E0|& hem 22l S
1
Bx12x 5 x 2+ (5+ 12 +13) x h = 300

60 + 30h = 300
30h = 240
Soh=38




ohg 237} Zo] W5 e] Zol7t Lem 91 9 WA B2] Lo} xem

Q1 2] @xo]e] )7} 1: 4 o]ek. ojul, x ] S Tofeiel.

w182 Zol7} 1om Q) T-2] AylolE
47 x 12 = 4n(cm?) ©]1,

22 29] Zol7} rem 4 F-] BH ol

4 x x? = 4x%n(cm?) o]t

wWatA 1:4 =4dr: 4x%7 O|B 2, x = 2 o|th,




fr

10. 7 2] Abnt A 8S Zobd thg 13 2ol Y BFOE ol
oret. o] 9] §EA 9] Ao x o gHe Tatelet.

ol

AT AAE ZotA 9 BRFog B9 W R
(Arke] 2el) = (99 |el) ol
whebA] 4r x 42 = 64n = nx® O] BE x = § O]t}




11, oo 9o AT RS A4 2 S0

A7 o)A 9] Fu=?

-l b
3cm
K
<:%m
[ 4
@ 2407mcm? @)252wcm?
@ 2647wcm? ® 272xcm?

ste] 1 9-AAIZE o

® 256mcm?

2 7.9 Bulo|A] 22 7o) Bulg W,
V= (gn X 63> - (%n X 33> = 2527(cm?)




12.

S 95 e YA o] Byole} B
77}k Jafolat,

i L

= 2yYlo]: 132rcm?

v V. v Vv
0x
1

0x
iU

o B 2407 cm?

B

1
(B4lol) :ﬂx6x10+4yr><62x§ = 607 + 721 = 1327( cm?)

1 4 1
(F1) = §7r><62><8+ §7r><63><§ = 967 + 14471 = 2407( cm?)




